No.2 2
OBBZE

> 4
[F@iaaz = Tl (=£3.14) Xn(at%,sz?o)/ﬁv XEO_AIce<, :J

<HORI> ¥FZ&ErmEdd
MBEOKREZ fcn, MOEEESHETDE,

2 = 205

o~

S = 1wt

B ROPFORBEEFBEEZNZNRD K,
IEIZU. ABRREr TR,

, — 2% 3 = fwom
4 cm ,:>

3 cm

f

2 x 3 = b
) 2
L> = #~A SE’T B, * 3

= 21'[‘?(/ t %IL 2
B zﬁu‘ 33 Wine
33 W

b/ = (L x Slx A

/ 3
= 36T 6‘5%TL@iw




3. HEDstE

No.2 3
(2) B - AHEOREE - 1558
OEtt - M (REE EEIZ‘] BRI 1)
zzm s = (RS + (BBH)
2 1
s m v =([aBlfE) x (Bx)x 3
(Bl ROIEMBH T AB=BC=CD=-DA=12cm, EH=8cm, EG=10cm TH3d.
EEREFBERDL, E
(o
D \ C
> 2
E E

| ; .
S=l2x10xzx% + [2x][2
- 24‘0 + [L!‘L{‘
= 384 A, 38% o




